AR
M15A~25A%F T

B

t2

(H)

EREM EEERERA)| L P G B t1xC1 | t2xC2 H
16A-20A | 21.7/27.2 135 | 105 10 | M6X95 | 20x25 | 30x25 | 46/49
25A 34.0 145 | 115 10 |M6x110| 20x25 | 30x25 | 55
32A 42.7 150 | 120 10 |M8x110| 20x25 | 30x25 | 59
40A 486 156 | 126 10 |M8x130| 20x25 | 45%x32 | 65
50A 605 165 | 135 10 |M8x130| 20x25 | 45x32 | 71
65A 76.3 210 | 170 11 |3/8x155| 2.0x32 | 45x32 | 87
80A 89.1 225 | 185 11 |3/8x175| 20x32 | 45x32 | 93
100A 1143 261 | 205 14 |M10x195] 20x32 | 45x38 | 114

C1
02
T L BXO—5—H ARt 15A~100A
"R SPHC EELE mommmox  |NE 11
%5 HE wRE BE A%
F=A%
e 10210010853 N 01
._‘I A SHEET
NICHIES = S = = s & _
INTEC E|7I<’f/7'“/71‘5|iitz:*i EMEXRE | A3-1




